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Topic 3: Focusing on SMP 4 
Handout 2 
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[bookmark: _GoBack][image: ]

[image: ]
[image: ]

[image: ]
1
image2.png
2

33

INSTITUTE for LEARNING

Teacher leaves to monitor other small groups and returns in 2 minutes.

Teacher:

Zoria:

Teacher:

Teacher:

Teacher:

Teacher:

Mayah:

Teacher:

Mayah:

When| left here, you were held accountable for what you were saying. You had to
prove to your group that that was a half. Okay?

Tonly proved it to them two. | didn't prove it to him because he didn't __.

Okay. Mayah, show me why that's a half. Allright. Who can tell me what Zaria
was talking about before | left? Yes?

She was talking about how it was ha, but...
Show me the shape. Show me the shape. Okay.

But this one was haf. (Student holds up figure showing )

@
Okay.

But we didn't think so, 50 she said, do you think it's more than 3 or less than 37
It half. And then we said less than 3. So she was trying to tell us how it was half,
but we didn't believe what she said.

‘You still don't believe her? Mayah, why don't you believe her?

I kind of don't believe her, because how~—let me see this. Because of how there are 3
shaded, but there's not 1 only shaded, like this one. (student points to the 3 shaded

onthe fiure showing 2 and then comparesth iure t o igure showing 2.)

fal 1]
Okay.
But I know that it is equal, because 3 are shaded and 3 are not.
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INSTITUTE for LEARNING

Teacher:

Mayah:

O, 50 you know it's equal because 3 are shaded and 3 are not shaded? So we.
have an equal number that is shaded and an equal number that i not shaded?
Okay. Can you write me a fraction for that? Everyone, write me a fraction for this.

(writes 2 anthe paper)

Teacher leaves to monitor other small groups and returns in 3 minutes.

Mayah:

Teacher:

Teacher:

Mayah:

(The student has cut up three shaded pieces and rearranged them to look like.
figure e.) This is—this is equal to half because like this i the same thing. This is
‘the same exact same thing, because we have 3 that are shaded that look just like
this, and 3 on the bottom that are not shaded that look justlike this.

- .

Okay. Hensley, where's your shape like that? Hensley, do you agree that that's a half?
Yes. That's a half.

Okey.Mayah, nowprov t i ha his s h same s thi. Teocher ot o 3

and %)
Hensie, ook, thi i the same asthis, but ' justinto peces. And thisone's ot
into pleces. See, thre's. what..there's 3 ones on the bottom, bu tisone.
doesn't have 3 righ a the bottom. It ha 3 shade a th top. This one doesnt
have 3 shaded at the tp. I just has some sraght bigpieces, which i allinto one.

But stll, but we cut it up dif- ke, processes, because like, because this one was
here before, so...(Student moves th thirds around to show the originl figure.)
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INSTITUTE for LEARNING

Javier:  Yeah, but then we cut it up, and then this..and then this was equivalent to this
one, because thisis how | know i fits, because if you go ke this with them...
(student puts each of the three sixth on top of 1.)

el

Teacher:  Why don'tyou do the same? (Hensley cuts out the shaded sixths,)

Javier:  First the 3 shaded, on the part that'sshaded, a the top.

Teacher:  Okay. Don't move so fastfor him. Hensley? Tell him again.

Javier:  You put..so this is..this here s one half, but then i you put the 3 pieces here,
then il fit n the shaded part, the shaded part.

Mayah:  But Hensley was saying that you could put 2 o these in here ke that. That's what
Hensley said at firs. But  old him we have to use all o our shapes.

Teacher:  What makes it haf?

Hensley:  Becauselike these pieces, ke i you put thistogether, f you put these together, it
wil be half when you put the shaded parts o the other one. And then f you put
these on this one.

Teacher:  Okay.

[End of Audio]
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INSTITUTE for LEARNING

Half of a Whole

Mayah:
Teacher:
Mayah:
Teacher:
Mayah:
Teacher:

Mayah:

Teacher:

He said it was like 5 times bigger than the...

ellme whether r ot this (Fgure showing % ) shows me haives.

@
It doesn't show you halves.
Proveit.
It doesn't show you halves ...
Isay it does. Prove it tome.
Because...
Well, prove me wrong.
2.1t shows you 2. s 2.
[crosstalk]
It doesn't show you halves because one is—because one is not shaded. Three are

shaded inthis,but then there are 3 that are not shaded. (Student points to three
white ports and three shaded ports.)

@

Oh, 50 you're telling me that 3 are shaded. | want you to convince them now,
because you saw . So now | want you to get them to see what you saw, that this
s half. Okay? If you need to cut it up, cut it up. Don't be affaid to cut t up. Okay?

© 2012, 2018 UNERSTYOF PITTSBURGH aprozE




image5.png
Leading
Educators

o




image6.png




